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Part 1: Multiple Choice Questions (20 points)
Choose the most appropriate answer among the four available choices. Only one of
them is correct. Each question is worth 4 points.

1. Consider a downward parallel shift to the production function. This causes the level
of work effort to , so the MPL at the new level of work effort is the
MPL at the old level of work effort. In addition, the level of consumption
(a) fall; higher than; rises
(b) rise; equal to; falls
(c) fall; equal to; rises
(d) rise; lower than; falls

2. An increase in the interest rate that causes a pure intertemporal substitution effect
an individual’s current quantity of consumption demanded and his
current labor supply.
(2) lowers; lowers
(b) lowers; raises
(c) raises; lowers
(d) raises; raises

3. If leisure is a normal good, which of the following cause an increase in work effort?
(a) parallel downward shift in the production function.
(b) The substitution effect from an increase in the MPL schedule.
(c) Both A and B.
(d) None of the above

4. Two nations will show conditional convergence but not absolute convergence if
(a) the initially poorer countries is farther from its own steady state then the initially
richer nations.
(b) the initially poorer countries is closer to its own steady state then the initially
riéher nations.
(c) the two nations grow at the same rate but one nation is poorer than the other nation.
(d) none of the above. It is impossible for two countries to show conditional

convergence but not also show absolute convergence.

5. Which of the following statement regarding purchasing power parity (PPP) is true?

(a) Absolute purchasing power parity states that a unit of currency will be able to buy
the same amount of goods across coxmtriés, no matter how the real exchange rate
changes.

(b) Relative form of purchasing power parity state that a unit of currency will
depreciate at the same rate, no matter the currency is held as domestic currency
or foreign currency.

(c) (a) and (b).

(d) None of the above. Neither (a) or (b) is true.
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Part 2: Two periods general equilibrium model (30 points)

Consider the following two period general equilibrium model with a representative
household and a representative firm.

1. The firm’s problem.

The firm uses K; units of capital to produce Y; = 4Kt1 /3 goods as output. Goods and
capital can be sold at prices p; and p;., inperiodfand ¢+ 1, respectively. ¥; canbe
sold as consumption goods or used as investment [;. In period ¢ + 1, the firm starts
with Kipq = (1 = d)K; + I, and produces Yy = 41(}1 ﬁ . After productionint + 1,
the firm is left with (1 — d)K,,, units of capital. The nominal interest rate between

period tand ¢ + 1 is i;. Note that the real interest follows (1+71¢) = —p-?f; a+iy.

(a) The profit at period ¢ is 7; = p,Y; — pely. What is the firm’s profitat £ + 1, Tpyq,
in terms of Pryq, Yesr,and Kpy? (2 points)

(b) The firm choses I, to maximize its total discounted profits as the following:

T
max m; +—2
It 1+ig

Formulate firm’s optimization problem with its constraints (2 points), and derive
the formula for the firm’s optimal investment I, (4 points).

2. Household’s problem.
The representative firm is owned by the representative household, and the profit is the
household’s only resource of income in each period. The household maximizes his

lifetime utility as:

max log(c,) + B log(cess ),

Ct, Cta1

subject to his lifetime budget constraint,
Pe+1Ce41 _ Tteq
PeCe + 7 L
(a) Derive the household’s Euler equation.(4 points)
(b) What is the household’s marginal propensity to consume of current spending

e 7 (2 points)

3. General Equilibrium:
State the definition of the competitive equilibrium (general equilibrium) of this two
period economy. You need to specify the market clearing conditions. (6 points)

4. Assume d=1, f=1,K, =1 Calculate the general equilibrium value of

Ct) Crats Ity Kpiq, and the real interest rate 1, (note that the prices and nominal
interest rate cannot be determined here). (10 points)
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IRFEERR '

GI =7; +b1+! _(1+’;)br °

FTBUMREEBMRGEE - £ 2 t YRR EAEER » n B (NS
/INE I ¢ ERRVEEHIERAIGR y, = AF (k. n,) - £ EERBUR R B EAUE AN R At
HENE > 4 BINEGENEEGE - RETEUNSERA (e, L) BURRHE ¢,
FARR, =1-n, (BERIBEER—) BAKBMEFA T REE - KBTI
EWEAR L NEBEHEANED, - HEEREMEE

o

> Bule,l), Be(0,1)

(e ko bid 1=0

subjectto [ +n, =1,V1,
¢, +i+b,,=A4AFk,n)+1+n)b -1,V

i =k, —(1-8k, VL.

LR » 5 [0 BRANER i 2 tHIRE b ZRBAENER - I—
CEMENEEIWER , +1,+G, =y, = 4F (k_,n,) - FIRIE L EEREELT
ERE - BN | BRRGR—/NESN - RRERBRE—IE R
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5. (10 5] FEAKENEBEE - S u(c,l)=0lnc +(1-0)Inl, y, = 4k n™,
G =gy,,0,a,ge(0,1) - FEREH A4 = 4 - FRERA » B8 HEBEHOEE
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